8 7 6 5 4 3 | 1
REVISIONS
[> NOTES ® ] DATE APPROVAL |
[WL00S V] 171472021 ] TLC

1. NON—IMPACT RESISTANT OPTION — .125" jwioos] i [aze7/21 | TiC
MINIMUM DSB_GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00"
CIAZING 15 NOT MPACT RESISTANT AND. DOES 13 GA HORIZ ANGLE
NOT MEET THE REQUIREMENTS FOR \
WIND—BORNE DEBRIS REGIONS.
2. IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM M?Y BE
INSTALLED IN INTERMEDIATE SECTIONS (WITH € DOOR |
OR WITHOUT DECORATIVE INSERTS). GLAZING 12 GA MIN #&gﬁ —~— 7, i
SHALL BE 1/4" POLYCARBONATE. MAXIM#M N
GLAZING DIMENSIONS SHALL BE 11* x 17",
FASTENED WITH A MINIMUM #8 X 1° SMS: 3X 12 GA CONTINUOUS )
ALONG THE HORIZONTAL AND 2X ALONG THE ALL ANGLE .1 I
VERTICAL. : L . =
3. ALUMINUM FULL VIEW OPTION — ALUMINUM 12 GA MIN VERT . < W :
FULL VIEW SECTION WA REPLACE ANY wrack |l !

ON_ EXCEPT TOP AND BOTTOM PANELS. N .1 / >
ALUMNUM FULL VIEW SEOTION SALL HAVE H & A ° !
RAILS AND STILES OF EXTRUDED ALUMINUM 5/16"x1-5/8" - 20 GA CENTER STILE —~
ALLOY 6063-T6 AND .125° MINIMUM DSB LAG SCREW AT EACH ~ p—
RETAINERS. I ORDER T WEET UNIFOR AR o s : * H

Al M M
STATIC DESIGN PRESSURES SHOWN ON THIS sﬁggﬁ:ﬂf SFEOER 5",',0%’ C .1 ¥
(DRAVI)ING. AFV PANEL SIZE IS 47.5"x21.9" 3 FOR MOUNTING TO H B
MAX) GLAZING IS NOT IMPACT RESISTANT 0 —
AND DOES NOT MEET THE REQUIREMENTS FOR OTHER SUBSTRATES. SHEET -
WIND—-BORNE DEBRIS REGIONS. H VXe N
{
4. MINIMUM_OF 1" OVERLAP ON BOTH JAMBS HH H i
REQUIRED TO MEET NEGATIVE DESIGN B&G“'ZO"S/ 16" TRACK—{| / .
PRESSURES. AND 1 /4—20 HEX .1
NUT AT EACH TRACK H H g
5. SUDE LOCK OR OPERATOR REQUIRED. CUP LOCA110N = 1 D ®
(SEE DETAIL A SHEET 3) :
6. SECTION, Iq(SI'EELNESSTO HAVE THE FOLLOWING _/ 1 SHEET °
MINIMUM L °1° TP
421, 423 - 20 11 GA TRACK CUPS 20 GA END STILE: 1. — L
427, 429 — 24 GA (WELDED, BOLTED, OR e, (OUTSIDE END STILE |l § ] ¢
434, 436 — 25 GA RIVETED TO WALL WOOD FILLED) 7 1Ky _
ANGLE) SEE NOTE 8 AND L
7. THE DESIGN OF THE SUPPORTING _ oETAL B SHEET 3 ' il
RESPONSIBILITY OF THE PROFESSIONAL OF . u S
RECORD FOR THE BUILDING OR STRUCTURE H
AND IN' ACCORDANCE WITH CURRENT BUILDING o -
CODES FOR THE LOADS LISTED ON THIS H ,
Al 1 o ®
H
8. TRACK CLIPS SHALL BE LOCATED WITH sur()soli_ogléoa?;gb Ev',',PrHs_/ )
CENTERLINE OF BOTTOM CLIP SPACED 10" OPERATOR — SEE NOTE 5) o °
MAX FROM BOTTOM OF TRACK AND REMAINING G
TRACK CLIPS SPACED AT 24" O.C. MAX. R
SPACING BETWEEN TOP TRACK CLIP AND :
SPLICE PLATE SHALL BE 30" 0.C. MAX. >
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO H
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. 9
REFER TO JAMB CONNECTION SUPPLEMENT AH 2 |
FOR ATTACHMENT TO SUPPORTING ¢
STRUCTURE. NOTE:  (4) SECTION SOLID DOOR e,
SHOWN. SEE SHEET 2 FOR U-BAR
LOCATIONS ON DOORS WITH OTHER o © J
SECTION QUANTITIES AND SEE NOTES ¢
SUPERIMPOSED DESIGN PRESSURE :;'LAzhrfc 30'9;0@5 SHEET FOR o a H EN p—
LOADS ON SUPPORTING STRUCTURE L H / "\ - m—
MAX [ poor MAX UNIFORM LOAD EACH JAMB I W J . 4 |
DOOR | a7 (PLF) i ) i
WIDTH | |
16'=2"| ALL +355.7 /—402.6 \
- U -
.. ¢ OF T W N ——
oo E* “)hn Digitally signed
. -
’ " *ss 4 by John Christian
P 2] . '._:Si ‘St|an Voelkel
” * o "y Date: 2021.05.03
, * v %e%(el 10:29:06 -05'00' THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
*

STATIC PRESSURE RATINGS

APPROVED SIZES

MAX WIDTH: 16'-2"

DESIGN PRESSURE(PSF): +44.0/-49.8

MAX HEIGHT: 24'-1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

b3

N 133174

8

7 I

‘ ®00cc00e®
WSSIoNAL B
e~

4
4 J.C.VOELKEL

floeoocesesescocecesescrcasecccs

" O’(z\- 4 /C EN 5?,0.-'%{"

THE DRAVINGS AND ALL DTHER
AND

INFORMATION ARE TI »mmmmmnrwmmmmmmnsmummmms
mﬂn".m\lﬂl.:mmPART,HAYNDTE(‘.BPIEIIINWWIERRMMTDMMWTHMMPRHR CONSENT OF OVERHEAD DOOR MAHDM lI]]Ilsd.l]s.lREI‘l-’
AIIVD’TIHSMVINE[RDFMDHSNTDMDTD[PERATEASALMISE[RMHH[RIZATWNTDUSEHFIRMIVPIRPI]EV‘IHMTHESPEUF'CVWW DVEH'EAII]II‘.IRCWATDL
oS e et FINISH DATE
VHOLE — VINII.DAI'I.I'.IPTEIN CODE 2047
mnzn 251 +nn4/- 003 NUMBERS: % 25 N/A 'r CLARK 1/14/21  [SERIES 421/. Pwsr l4574'42“9“/)(4:;4/435,
TO 500 +.006/-.003 s 107
v e |SVER Soa a0aross | 35 | Nt O SN | verar e
E) Mreens XXX £ 010 APPROVED BV & D- 411801
“REFOVG ] —Im * 1116 MGLES ¢ 5 | EA T CLARK | 427/2l ee—Wa  [swi o3



chris
Texas


8 7 6 S 4 3 e 1
(12) SECTION DOORS WITH
1/4-20x3/16" TRACK BOLT ) (12) # 18 GA 80 KS| C- CHANNELS
AND 1/4—20 HEX NUT Rd LOCATED AS SHOWN =
THROUGH THE SLOT IN THE / \ |7
TRACK AND TRACK CLI ; i q
! (11) SECTION DOORS WITH
/ (11) 4" 18 GA B0 KSI C—CHANNELS
/ D 3 18 GA 80 KSI U-BARS
. . LOCATED AS SHOWN [
- %
DETAL A H
(10) SECTION DOORS WITH
;ﬁ,\%?(g,‘;”;‘,ﬁﬁ”,% JQPR&";AE';E (10) 4" 18 GA 80 KSI C—CHANNELS
CARRIERS, EACH ATTACHED WITH ao 3 ngéAFSDKEs %‘ﬁggﬁ
(4) 1/4—14x7/8" SELF DRILLNG——  _..—..
CRIMPTITE SCREWS
(9) SECTION DOORS WITH
(9) 4" 18 GA 80 KS| C—CHANNELS
! @ 3* 18 GA 80 KSI U-BARS
3* STEEL ROLLER WITH 7/16" DIA. LOCATED AS SHOWN
x 9" LONG STEM AND 7/16™
PUSH NUT AT TOP ROLLER / (8) SECTION DOORS WITH
LOCATION. 1/4” MAX BETWEEN \ z (8) 4" 18 GA 80 KSI C—CHANNELS
PUSH NUT AND BRACKET. ,/ @ 3 18 GA 80 KS| U-BARS
~ ] 2. LOCATED AS SHOWN
DETAL B
(7) SECTION DOORS WITH
ADD (2) 1/4—14x7/8" SELF @« S A B K R IANNELS
DRILLING CRIMPTITE SCREWS ~ __._. LOCATED AS SHOWN
(INSIDE OF EACH INSIDE END HINGE)
DA o LONG STEM ATAL [ (8) SECTION DOORS WITH
- ! (6) 4" 18 GA 80 KSI C—CHANNELS
ROLLER LOCATIONS EXCEPT @ > 18 6A 80 KO LoBARS
TOP AND BOTTOM ROLLERS LOGATED 'AS SHOWN 1
i
(5) SECTION DOORS WITH
11 GA MODIFIED WIDE BODY — _ (5) 4" 16 GA 80 KSI C—CHANNELS
END HINGE ATTACHED WITH ~ ——" 11 GA DOUBLE BOTTOM BRACKET (5) 3* 18 GA 80 KSI U-BARS
(4) 1/4—14x7/8" SELF - p ATTACHED WITH (20) 1/4—14x7/8" LOCATED AS SHOWN
DRILLING CRIMPTITE SCREWS DETAL C s SELF DRILLING CRIMPTITE SCREWS (8
— Vs OF WHICH ARE USED IN ATTACHMENT
/ OF STRUT AND 8 OF WHICH ARE . (4) SECTION DOORS WTH
/ USED TO ATTACH 12 GA ROLLER (4) 4" 16 GA 80 KSI C—CHANNELS
/ CARRIERS) (4) 3" 18 GA 80 KSI U-BARS
| LOCATED AS SHOWN
|
14 GA WIDE_BODY ; 3" 1144 STEEL ROLLER
INTERMEDIATE HINGE . \ WITH 7/16" DIA. x 9"
A'ITACHE;J ;{I'Trs‘a(})umu.mc 7 \ LONG STEM AND 7/18
1/4—14x7/ . PUSH NUT. 1/4" MAX
CRINPTITE SCREWS : \, BETWEEN PUSH NUT AND R
LT \ BRACKET. »
gi:a)lu1p/11+1'_zmsc;2/a. SELF DRILUNG ™ S g ATTACH U-BARS WITH
\ N 4) 1/4—14x7/8" SELF
HALF HINGE : DETAL E DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.
(2) 1/4 x 1/2°
CARRIAGE BOLTS AND
1/4" FLANGE NUTS - E
vyl )
DETAL D s\\\\\
<€ OF Tg ‘\\
«P ..--no'.. * ‘
K )
o
L '
’ ®ececcccsccecccerccree L] TI’E]RAVWMIDALLDTIERM \TIDN CONT/ 'HE CONFIDENTIAL AND PROPRIETARY PROPERTY DF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES.
" v B T ""Tnﬁcs::%m"s" et A G e S R
STATIC PRESSURE RATINGS APPROVED SIZES | | J. C. VOELKEL 5 A A gy - i o .~ N
oo PRESSURE(SFY. +48.0/sa.g [HAX WDTH: 162"  RTTO T TI PI DI TP NPT PYRY, Ty SRS [ [, DIy e 207
S RESSURE(PSF): +44.0/-49. MAX HEIGHT: 24'—1" [/ B N 4 X +'1 TR ST I 0/-458 PSF, 162" NAX
. : ' 0 % 133174 R of & > OVER 500 +a08/-003 o fos | AT T aIAN 1/8/21 |
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24 ' op . N 7 e o N/A e W& D- 411801
. Q(s g </CE S@o.f'e‘" 4 REF_IVG USED IN aoies &5 | €A TCLARK | /27721 /A Jswizw 3
8 7 [ W o n BN, 2 | 4 3 2 1
®ccese -
WO/ONAL B



chris
Texas


8 7 6 S 4 3 e 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: E£60XX MIN. DLO= 5°X20"
TRACK CLIP
N OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4-20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MQUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
FAL D é’w HOLE
LOCATION
SJBSTRME
MOUNTING WALL AN(
TRACK CUP
BUTYL TAPE 2) 1/4—20x9/16"
PLASTIC FRAME % soLT ﬁg
1/8" ANNEALED DSB GLASS (MIN) e
DLO= 5 3/4"X22 7/8" WO00 MOUNTING DETAL = ANGLE QUT
(10) #8X2" SHEETMETAL SCREW
LOVER INT. RAIL (1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
23/ 2 3/
MIN EDGE DIST
BLASTIC FRAME (INSULATED
JOINT SEAL e AL
|/ ANGLE WITH 1/4—20 TRACK BOLT
AND 1/4—20 FLANGE NUT
BUTYL TAPE
" SMPSON TITEN HD, 3/8" SINPSON TITEN HD,
2-3/4" NIN EMBED INTO a;‘lwysﬂgj?ﬁg
:Nﬂ L O PR 3; m wﬂ%ﬁl PAR vl’lAVlLALRBMG.E FACING
OF HOLE LOCATI
VIEW MOUNTING WALL ANGLE
TRACK TRACK CuP
K INTERIOR FRAME %’A&‘;&gﬁ/“ %’E&"T”ﬁf
7/ 1/4—20 HEX NUT- 1/4-20 HEX NUT-
o TRACK TRACK
../ SHEETMETAL SCREW CONCRETE MOUNTING DETAIL — ANGLE QUT CONCRETE MOUNTING DETAL, — ANGLE N
/
CONTINUOUS i
WALL ANGLE . TRACK :
/ N\ ExEoR STt Wbohmno
(2) 1/4" x 7/16, \ \ . uwunue WALL ANGLE: ;—2:4 A——
SEMI TUBULAR : i \ . TRAGK P
RIVITS OR (2) | \, 3 N OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4°—20 TRACK \ / - |_#—1/4" POLYCARBONATE m&m‘ summuc STEEL WTH uN (1) 1/4-20x7/8"
BOLTS WITH NUTS™, e 1/4-20 HEX NU RN e S

OR

(
RESISTANCE SPOT
WELDS

2) .28 DIA

s\\\\\
: ..-‘;e OF Tg

STATIC PRESSURE RATINGS

APPROVED SIZES

TPEMVWMBALLDTIERM \TIDN CONT/
AND INFDRMATIDI
ANY DF THIS DRAVING DR

DESIGN PRESSURE(PSF): +44.0/—49.8

J. C. VOELKEL

MAX WIDTH: 16'-2"

IMPACT/CYCLIC RATED: YES

8

iscowor a1, O, 133174 f& J——
"'90 ( / Q 'é‘/ REF_DVG
7 [ A ICensE o

‘\\ SIONAL ENas
e~

AND PROPRIETARY PROPERTY.
ANYDNE VITHOUT THE PRIDR VRITTEN

EAGI‘;G.E R PAR OF HOLE LOCATIONS IN

rwm:mmunmmummmm

COMP ANIES.
N.mvm.:mmpm,mvum!mmmmwnmmmT COWENT [ OVEREAD 08 CIRPERATION 6 DISGOSRE D
BTN 1§ INTENDED T DPERATE AS 4 LIGENSE 0R AUTHIRIZATIN T0 USE I FIR ANV PURPOSE ITWOIT THE SPECTIC VRITTEN CONSENT (F VERHEAD DOOR CORPORATION
= e {VINDLDAB,GP TION CODE 2047
T CLARK 1/14/21 SERIES 421/423/427/429/434/436,
0/-49.8 PSF, 16'-2 MAX
RIAN 1/8/21
——— W& D— 411801
T CLARK | 42772l S5~ N7a  Jewri3 o 3

1



chris
Texas


	2040 411797-rA SH1
	2040 411797-rA SH2
	2040 411797-rA SH3
	2041 411798-rA SH1
	2041 411798-rA SH2
	2041 411798-rA SH3
	2045 411799-rA SH1
	2045 411799-rA SH2
	2045 411799-rA SH3
	2046 411800-rA SH1
	2046 411800-rA SH2
	2046 411800-rA SH3
	2047 411801-rA SH1
	2047 411801-rA SH2
	2047 411801-rA SH3

		2021-05-03T10:29:06-0500
	John Christian Voelkel




